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) Denive (by matbematical calculations) an expression for the oil récovery R(t) for the so-
lution discussed in b} before and after water breakthroughs

) Farmulate the mass balanee equations fon water fkﬂ}mmmrmmh
and dorive the sonsenvation law (A) that expresses the Buckley-Leverett model.

Tn purt B, al)9: exorcikes 3a-3f and da-c count equally. If anything/is unclear, state
your assumptions,

Exorcise 8. Albite (NaAlSi;Og) is & plagioclase feldspar mineral which dissolves in water accord-
1z to the following reaction
NaAlSia®s + 4H* = AP + Na® + 2H,0 + 35i0; (v
:h solubility constant Karmiz 104
) Write the equation that describ: l[.._!lbﬂhf-)q‘l'ﬁ.'.l for this proces  (hint: use that &l’fﬂ' is
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